No. of Printed Pages : 8 BCOC-136

BACHELOR’S DEGREE PROGRAMME
[B. COM. (G)]

Term-End Examination

June, 2023

BCOC-136 : INCOME TAX LAW AND PRACTICE

Time : 3 Hours Maximum Marks : 100

Note : Attempt any five questions. All questions

carry equal marks.

1. (a) Distinguish between agricultural income
and partly agricultural income with

example. 10

(b) Mr. Ashutosh retired from an Indian
company after serving for 34 years
4 months on 31st December, 2021. The
company paid him ¥ 8,00,000 as gratuity
under the Payment of Gratuity Act, 1972.

P.T.O.



(a)

(b)

(a)
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His monthly salary and D. A. at the time of
retirement was I 58,000 and ¥ 5,800
respectively. Compute the exempted
gratuity U/S 10 (10) (1) of Income Tax
Act. 10

Discuss the provision regarding
encashment of leave at the time of
retirement/death. 10
State the conditions which a Hindu
Undivided Family and Indian company

have to fulfil in order to be called as
resident in India. 10

Mr. Sanjay is employed in ABC Ltd.
Company. He gives the following details for
the previous year 2021-22. Compute gross

and taxable salary for assessment year

2022-23 : 10

(1) Basic pay T 48,000 p.m.
(i1) Dearness allowance ¥ 18,000 p.m.

(20% 1s used for benefits of retirement)

(i11) House Rent Allowance (HRA) ¥ 15,000
p.m. He pays T 18,000 p.m. as rent for
his accommodation in Chennai.



(b)

(a)

(b)
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Explain any five deductions deductible
under the head ‘profits or gains from

business and profession’. 10

What is Capital Gain ? Discuss the concept
of Capital Gain and also differentiate
between short-term gain and long-term

gain. 2+4+4

What are the various benefits of filing

income tax return ? Explain the procedure

for E-filing of ITR in India. 10

What do you mean by clubbing of income ? In

what circumstance is the income of one person

treated as income of another ? Also write the

provision relating to the clubbing of income of a

minor child. T+7+6

What are the provisions regarding set-off the

following losses ? 5x4=20

(a)
(b)
(©
(d)

Short-term capital losses
Long-term capital losses
Losses of lottery and card game

Speculative business losses

P.T.O.



7.

(a)

(b)

(a)

(b)
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What is Gross Total Income ? How 1is it
different from Total Income ? 6
Gross total income of Mrs. Neha is

T 6,75,000. She deposited in RPF ¥ 50,000.
She paid donation to a political party
T 10,000 by cheque and Prime Minister
National Relief Fund ¥ 15,000 by cheque.
She paid medical insurance permia on the
health of her spouse ¥ 27,000 by cheque.
Compute her total taxable income for

assessment year 2022-23. 14
What are the consequences of delay in
filing return ? 10

Explain the following in the context of the

Income Tax Act : 5+5
(1) Capital Assets

(1) Residential status of a company.
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TATaeh SUT Shrdehd [of, iH. (ST))]
wAiq aden
S, 2023
ST, 1,31, E.-136 : 3R fAe TS FTEN

gag : 3 HqU2 AfYFHaT 3TF ¢ 100

e : w2 gier g9 & I ifoTl g4 g9 &

37 GO Bl
1. (F)SM @ R AI@: H M@ & =R H
TISEL0T THESY| 10

(@)t IREY Th ARdE HAH H 34 99 4
AE Holl i & YTErq 31 fa@wr, 2021 Wl
e g & 34 3% U A
situfam, 1972 & 3t=ria ¥ 8,00,000 A
frul IR SEemT WM & 9Ha Hifgs
gad 9 HEME Wl %AEY: T 58,000
3 5,800 ATl U=ggel Ui i whigad e
I AT 3SR AfUFIH &l 9 10(10)
(i) & SATER HIfST 10

P.T.O.
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2. (F)Fatgfa qon gog W A EHh™ &
THEARW W GECUd WEHEl 1 F0H
FifSTTl 10

(@)t feg stfawisia wgm 3R Th w6l
fat @wgam &1 f&a-fea ol &1 @@
HE BT 7 2 10

3. (®) S g9 U o 9. fafiee wre | swEa
g1 S=H e 2021-22 & faw Fefated
g & B 3w FR-fAufor ad 2022-23
F1 Wha! d Y AFF a9 i TIMET HifST)

10

() o oaq T 48,000 UfaHE

(i) WEME W= ¥ 18,000 ufqHrE
(20% STIRTET U & ol i TUHT B
foan < ©)

(iii) F™ TR 90 T 15,000 FfqHE W
feon S@fer == o "&E w1 foRmn

% 18,000 HfqHE WA femam
(@) SAMUR 31Yel U9 & oY Te G|’ gien
% STl heldl A fel uier shelfadl
1 AT hifSU| 10
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4, (F)YSE@ o F € 2 Yeld @9 Rl
STIYRUN 1 GUF  HITT R STeUdhTel

USa oe U el gt @ o

SR FHIfT) 2+4+4

(@) 3R fied <ifgd & & fafy= o9 ==
2?7 UG U IS, A AR HT S-WIEfT Hi
fehan 1 SRS HhifSu| 10

5. o & faom 9§ @0 o 2 fea uftfefat
Y U Al H1 I T KT A AT Sl € 2
3R Rl A ] Sed & WY H YEHN
ERIERY 7+7+6

6. B &l I HH & FAfGREGd = gy
g 72 5x4=20

(%) TTUHTA gt BIfTar

(@) 3reehTett et g

(M) @il @R W & WA | s

() T2 e | gt

P.T.O.
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7. (F)HhA kA A W F q9d § 2 T8 HA
a™ ¥ fore yhR fa=1 © 2 6
(@) gt 8T &1 "Wehel el 3 T 6,75,000 =
3= ymifora wafes fafy & T 50,000 s
fhul SN TH TsHifae 9@l @ 310,000
9% T TE fHA R wuEEsh e
TEEd ®E H % 15,000 +ff < §W A
feal oue St & @R §fiW W

3 27,000 1 WHEH w6 g FHEN H
faior o 2022-23 & fau Tt &/A
F-AMT A hT1 AT Hifd| 14

8. (H)™ &I foaolt X ¥ qf@al FH &1 RN
R gl ® ? 10

(@) f=fafaa s =1 e tfuftam =
YA o SR U ARAT HIfT ;545

(i) IS gt

(i) wE ot e feafa
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